SITEID : MediaMill (Universiy of Amsterdam, submission ID: MediaMill_2)

Experiment ID :MediaMill_MED11_MEDI1I1TEST_MEDFull_SemiAutoEAG_c-Thor_1

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 50f 521 136/ 0.0165 0.7312 0.9368 0.0089 0.7957 0.9066|  0.9538

E007| 111|31821 39| 531 72 0.0167 0.6486 0.8578| 0.0096 0.7207 0.8408|  0.9356

E008| 132|31821 73| 487 59| 0.0154 0.4470 0.6389| 0.0156 0.4394 0.6337|  0.8336

E009| 95/|31821 45| 537 50/ 0.0169 0.5263 0.7377| 0.0118 0.5684 0.7156|  0.9686

E010| 87/31821 24| 550 63| 0.0173 0.7241 0.9406| 0.0110 0.7356 0.8730|  0.9742

EO11| 140|31821 51f 513 89| 0.0162 0.6357 0.8379| 0.0184 0.5857 0.8155|  0.8908

E012| 231|31821 91| 470 140/ 0.0149 0.6061 0.7919| 0.0148 0.6061 0.7915|  0.9434

EO013| 104|31821 51| 517 53| 0.0163 0.5096 0.7132| 0.0169 0.5000 0.7106| 09718

E014| 78|31821 34| 513 441 00162 0.5641 0.7659| 0.0068 0.6410 0.7256|  0.9212

EO015| 81/31821 27| 534 54| 0.0168 0.6667 0.8768| 0.0100 0.7284 0.8531 0.8961

DET for HediaMill_2 : MediaMill_MED11_MED11TEST_HMEDFull_SeniAutoEAG._.c-Thor_1
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